- ~ARgAGE
(-) ERFLZFH
109 # 5 &= & F 3.12% > T35 A Wp 2 & £ 37 (GDP) 28371 £ =~ » &
#94%; F § ¥ # % (CP) T 02%-

e T i5% A GDPz &S £ F
33z~ %

i 1.9 2.87 12
10.25

W3 4F G4k (CPI) 2 H & 8% %
110 - ( % F105# =100) 4
3.5 102.3

100 ~

90 -

TR KR FRRA
= o190 & Flgeprie kv 2 QLI B FF 298 E £fh v RAEBMEML £
Lok A GDP 7 ;104 2R F 23 B F Ak - F A SR E2 L AR BFRE
AL e B FE o GRS R TR 4 GDP g o
2.97 4 CPl } #% 35% > L FIRZ At ik BIR B EP S &0 K2 480
ot ik 8.6% » BB CPI ik 23 B A B o iF 10 # %k CPl ik itgg frT 48 » &

W5 6 15%0T .

1-1



(=) $Fz1p

109 # 1 ¥ 2 JRIBEF LX) RFFTT52 54160 ~ > £ 13% > ¢ 5§
’#"fiﬁ?? 42,394 = » -Eig’ 15% ; & A & % T 51 pF 1684 -] pF > & 05
JopEsHe # F1pF161 ) £ 01

5o IEZEBES A E I TR ET %
61 | 45 oo 5354[ 6
42 42  RFT 4.2
il | /\\ X
i <\ / 2
/ \ / Vv 13
0 T v 4} T T T T T T TS5 T T T T TS | 0
89 93 95 9 99 101 103 105 107 109| =
RET .
EHF ]
-4.8
- -6
g 1IEZRBER A K Tyoa
200 ~

190
180
170
160

b

168.4

168.9
161.0

L 161.1 161.1

u

89 91 93 95 97 99 101 103 105 107 109 &
ki AR A Ao
Pl HET=SVEET ALV EET R 1= ¥ 1 PF+ 4511 pFo
2.90 & Flppie ki- 2 QL1 B s #F £ 508 £k Efpiarh REAE VT o
%‘??T LE 3
SARZ IR EALERBE TR > EH R 1 22 T (TR 90 E42 o ¥
1R PRd F 7 FAZE 48 PR R 207 FAZE 84 [ B p 105 E e
SRR S F A TAZE 40 | pF o
41 ¥ 2 RIBPFLIRFEIP AR EBEFFRp 98 F 17 Asfh TRT EL KT
W ¥z B kv % 0108 44 TRy FERBE N RKTE2EFH KT 2
TA g1 IFPRIEE -

1-2



